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?:gtgvgﬁlcontonts = Convert longword to text, O, Z, L, B, 16-SEP-1984 00:24:59 VAX/VMS Macro V04=00 Page 0
(i) k; Edit nistorg
(3) DECLARATION
(&) 1 ; 0TS CVT_L_!? = Long to text, 0 format
(5) OTSSCVT_L_TZ - Long to text, 7 format
(?) 1 OTS$CVTat,1B = Long to text, binary format
(7) ab Local subroutines
(g) 5 OTSSCVT_L_TI = Long to text, I format
(9) 9 OTSSCVT_L_TU - Long to text, unsigned decimal format
(10) 8 OTSSCVT_L_TL - Long to text, L format
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TSSCVTLY = Convert longword to text, O, Z, L, B, 16-SEP-1984 :24:59 VAX/VMS Macro v04-00 Page 1 ot¢
?-31« . 6-559-1934 ??=¥§=oe LIBRTL.SRCIOTSCVILT.MAR:T 2% (1) 1=(
TITLE OTSSCVTLT - Tonvert longword to text, 0, Z, L, B, U, | formats
.IDENT /1-014/ : File: OTSCVTLT.MAR “Edft: mpL1014

AL AA AR AR R R iR i i il il it i il 222 Y]

COPYRIGHT (c) 1978, 1980, 1982, 1984 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
ALL RIGHTS RESERVED.

4
*
*
L 4
THIS SOFTWARE 1S FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED  +
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER *
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY  +
OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY
TRANSFERRED. .
*
THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE +
*
*
*
]
*
*
-

AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT
CORFORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS
SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.

R R R EENENEEZ:S:SE:ER:E:SE:SE:S:E:SJ:EJ;EJ: ]

LR TE A PR TR TR PR P LA P PR T PR TR AR P TR D L

LAA AR SRR R R R iR R R0 R R0 002 R R 2200020 R 202200000222

0000 P4e

8888 s FACILITY: Language independent support Library

0000 : ABSTRACT:

0000 : Routines to convert values of an length to text using 0 (octal),

0000 : 1 (hexadecimal), B (binary) and l (logical) formats., Also routines to
0000 ; convert byte, word and longuord integers to text using I (signed decimal)
8888 ; and unsigned decimal formats.

8888 : ENVIRONMENT: User Mode, AST Reentrant

0000 P==

NN =2 © O 00 O NV LN =2 © O 00 O\ 8 N =4 © O 00 NON W8S AN = OO 00 NN NV 55 i) —

(=d=l=l=
OO0
(={=l=1=]
(=l=leTl]
£ 85 B B AN AN A A v AN A NN N PO NN NN NN —8 — 3 2 -3 b 2 b s s

: AUTHOR: Steven B. Lionel, CREATION DATE: 21-Mar-1979
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t longword to text, O, Z, L, B, 16=SEP=-1984 00:24:59 VAX/VMS Macro V04=00 P
- -SEP=1984 ??:¥§:06 LIBRTL.SRCIOTSCVTLT.MAR;1 ot (s)

.SBTTL Edit History

Original, RoElacos FORSCNVOI, SBL 22-Mar=1979
Move V FORCEPLUS to bit position 1, SBL 25-Julx-1979
Speed Tm rovcnonts New ; ;ornat logic. Use CASEB in

INITIAL é-o.;
Fi n CASE. SBL 31-Dec=1979
Do corrcct thing for >128 arguments. SBL 31-Dec=1979
Minor iodo nprovoncnts cour es‘ of Rich Grove. SB. 2-Jan=1980
28{' -Jnor 808. improvements. Make value_size of zero an error.

. .n-
where OTS CVT L_TI 88 3 arguments doesnt fetch

the uc SBL March=1
Add OTSSCVT L _TB. SBL 6=-Nov=1980
Mane orsscvf C_TI prod ucc 3 g%ank field when value is zero and
int_digits is zero. SPR 27 JAW 22-May-1981
Add pit_offset and ?s paranetor to B, 0 and 2 convorsions. SBL 6-Ju16-
Reverse order of b sct an fiags paramotors inB, 0 and Z. SBL 30-0c
Add OTSSCVT_L_Tu. BL
fix bug where OTSSCVT L TU of 4 or 5 arguments doesnt fetch the
value. MDL 25-May-19B4~
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TSSCVTILY = Convert longword to text, O, Z, L, B, 16-SEP-1984 :24:59 VYAX/VMS Macro V04=00 Pa
?-816 DECLARATIONS ’ 2-5 P=-1984 ??: 3:06 LIBRTL.sREJOTSCVTLY.HAR;1 - (i)

. .SBTTL DECLARATIONS
: INCLUDE FILES:

: EXTERNAL DECLARATIONS:

COOOCD NN NN NNNNNNO-OON

N = O O 00 NO WSS N = O 000~

g .DSABL GBL ; Prevent undeclared
8 ; symbols from being
; automatically global.
8 EXTRN 0O7S$_OUTCONERR ; error code
00 :
0000 s MACROS:
8000 :
000 8
0000 84 ;
0000 85 ; EQUATED SYMBOLS:
0000 86 ;
0000 87
0000 g! 3
8888 98 s PSECT DECLARATIONS:
00000000 91 .PSECT _OTSSCODE PIC, USR, CON, REL, LCL, SHR, =
0000 9; EXE, RD, NOWRT, LONG
0000 9
0000 9% ;
0000 95 ; OWN STORAGE:
0000 99 s
0000 G
0000 98 LETTERS:
42 41 39 38 37 36 35 34 33 32 31 30 0000 99 LASCII  /70123456789ABCDEF/ ; Characters for output
46 45 44 43 88?8 200
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OTSSCVTLY = Convert longword to text, O, Z, L, B, 16-SEP-1984 00:24:59 VAX/VMS Macro V04=00 Page &
1-312 OTSgCVY_L- 0 ! Long to text, 0 ‘orlat g-SEP-19 4 ??:i!:Ob LIBRTL.SRCIOTSCVTLT.MAR;1 ’ (4)
8} } ; s +SBTTL OTSSCVT_L_70 = Long to text, 0 format
} } g ; FUNCTIONAL DESCRIPTION:
1 1 ? : This routine converts its input value to a text representation,
0} } : using base 8 (octal). The input value may be of any Length.
0} }15 : OTSSCVT_L_TO supports FORTRAN Ow and Ow.m output conversion.
§1§ 111 ; A separate entry point FORSCNV_OUT_O is provided for compatibility
1 11§ : with erevious releases. Note that the input value for
81 1135 ; OTSSCVT_L_TO is by reference while that for FORSCNV_OUT_O is
1 114 ; by value.
01 115 ;
88} }}9 : CALLING SEQUENCE:
0010 118 : status.wlc.v = OTSSCVT_L_TO0 (value.rx.r, out_string.wt.ds
0010 119 : . int_digits.rl.v
0010 120 ; . value_size.rl.v
0010 121 ; . flags.rbu.v
88}8 } i 3 , bit_offset.rl.v11]])
88}8 } g ; status.wlc.v = FORSCNV_OUT_O (value.rl.v, out_string.wt.ds)
0010 126 :
88}8 } ; ;s INPUT PARAMETERS:
00000004 0010 1§9 g value = & ; Input value to be converted to text
0000000C 0010 130 int_digits = 12 : Minimum number of digits to be produced.
0010 1;1 ; If actual number of significant digits
0010 1 i : is smaller, loadina_zeroes will be
0010 13 ; produced. If int_digits is zero
0010 134 ; and value is zero, a blank field will
0010 1%5 ; result. The default is 1.
00000010 8010 136 value_size = 16 : The size of value in bytes. The
010 137 ; default is 4 if this argument is not present.
0010 138 s It V_SIZE_IN_BITS set, value_size is in units of b
00000014 0010 139 flags = 20 ; Caller supplied flags
0000000‘ 0010 140 V_SIZE_IN_BITS = 2 ; "'value_size'' is in bits rather than bytes.
0000001 88}8 }2% bit_offset = 24 ; Starting bit position. Default is 0.
0010 143 ;
001 1446 , IMPLICIT INPUTS:
01 145 ;
01 169 : NONE
01 147 ;
0} }28 s OUTPUT PARAMETERS:
00000008 } }g? ; out_string = 8 ; Output string by descriptor.
§ 1 155 * IMPLICIT OUTPUTS:
1 133 :
O} }Sg : NONE
8} }gg : COMPLETION CODES:
81 158 : SS$_NORMAL = Successful completion.
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J 15
ongword to text, 0, Z, L, B, 16=SEP=-1984 00:24:59 VAX/VMS Macro V04=00
0 ! Long to text, 0 ‘ornat G-SEP-1936 ??:i§:06 LIBRTL.SRCJOTSCVTLT.MAR;1
159 ; OTSS_OUTCONERR = Output conversion error. The converted value
130 3 does not fit in the field provided. The field
161 ; is filled with asterisks. This error is also
}gi : given if value_size is not positive.
}gg s SIDE EFFECTS:
166 : NONE
169 ;
}63 PR
}?? .ENTRY FORSCNV_OUT_0, “M<R2,R3,R4,R5,R6,R7>
17; MOVAB value(AP), Ré ; Address of value
17 RSB luiTlAkllf : Set up default values
174 MOVL #32, R ; Value MUST be 4 bytes!
};S BRB COMMON_O ; Go to common routine
};z LENTRY OTSSCVT_L_TO , “M<R2,R3,R4,R5,R6,R7>
179 MOVL value(AP), Ré ; Address of value
}g? BSBW  INITIALIZE : Set up default values
18
135 COMMON_O:
184 MOVL R1, R6 ; lLast set char address
185 108 CASEL R3, M1, n ; Select on bits remaining
136 1$ WORD 11$-1$ ;1 bit
187 .WORD 1%3-18 : i bits
188 9RB 13% F or more bits
189 : can't be zero
190 11%: EXTZV RS, #1, (R4), R7 s extract one bit
191 BEQL  EXxiT_0 : if zero, exit
19§ BSBW ZERO FltL ;s fill with zero to this point
19 MOVB LETTERSLR7], =(R1) : move character
194 DECL R2 ; decrement digits count
195 DECL R6 ; decrement place holder
19? BRB EXIT g
197 12%: EXTZV RS, #2, (R4), R?7 : extract 2 bits
198 BLEG  EXiT_0 : if zero, finish
199 BSBW ZERO FIEL : fill with zeroes
00 MOVB LSTTERS R7]1, =(R1) : move character
01 DECL R ; decrement digits count
8; DECL Ré ; decrement place holder
BRB EXIT g : exit
04 13%: EXTZV RS, #3, (R4), R7 : extract 3 bits
05 BEQL 40 3 skif insert if zero
0? BSBW ZERO fltL : fill with zeroes
0 MOVB LETTERSLR7], =(R6) : move character
03 DECL R ; decrement digits count
09 40%: ADDL2 #3, RS ; increment position
10 DECL R1 ; decrement character pointer
1 SUBL2 #3, R3 : decrement count
}i BGTRU 10§ : continue if not done
14 EXIT_O: :
15 TSTL R2 : more zeroes to fill?

Page

5

(4)
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OTSSCVTLY = Convert longword to text, 0, Z, L, B, 16=SEP=-1984 00:24:59 VAX/VMS Macro V04=-00 Page 6 %
1-014 TSSCVI_L_TO - Long to text, O format 6=-SEP=1984 11:13:06 L[LIBRTL.SRCIOTSCVTLT.MAR;1 (4)
00 BLEQ no

insert R2 zeroes
we aren't writing a char here
fill with zeroes
Blank fill?
0

N

Move a blank
Loop tiil done
SS$ NORMAL
exit

19 508

51 56 1 SUBL3 as. R6, R1
13 INCLT R
1 BSBW  ZERO_FILL
0 508: TSTL
1 BLEQ $
i 6 MOVB  #*A/ /

SOBGTR RO, 60
& 708: MOVL #1. RO
5 RET

76 =(R6)
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L
nvert lLongword to text, 0, Z, L, B,
CVT L_T2 2 Long to text, § e
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nac '6-SER-1980 99:98:88

AX/VMS Macro V04=-00 Page

3:06 CLIBRTL.SRCIOTSCVTLT.MAR;1

: +SBTTL OTSSCVT_L_TZ - Long to text, Z format
FUNCTIONAL DESCRIPTION:
This routine converts its input value to a text representation,

using base 16 (hexadecimal).

The input value may be of any Length.

OTSSCVT_L_TZ supports FORTRAN Zw and Zw.m output conversion.
A separate entry point FORSCNV_OUT_Z is provided for compatibility

with

revious releases.

Note that“the input value for

OTSSCVT_L_TZ is by reference while that for FORSCNV_OUT_Z is

by value.

CALLING SEQUENCE:

INPUT

status.wlc.v

status.wlc.v
PARAMETERS:

value = &
int_digits = 12

value_size = 16

IMPLICIT INPUTS:

NONE

OUTPUT PARAMETERS:

out_string = 8

IMPLICIT OUTPUTS:

NONE

COMPLETION CODES:

LER TR TEAFEA TR TETE A TR PR PR PN TR T

OTSSCVT_L_TZ (value.rx.r, out_string.wt.ds

. int_digits.rl.v
. value_size.rl.v
., flags.rbu.v
(., bit_offset.rl.v111))

FORSCNV_OUT_Z (value.rl.v, out_string.wt.ds)

Input value to be converted to text

Minimum number of digits to be produced.

It actual number of significant digits

is smaller, Leading zeroes will be

produced. If int_digits is zero

and value_is zero, a blank field will

result. The default is 1.

The size of value in bytes. The

default is 4 if this argument is not present.
iIf flags bit V_SIZE_IN_BITS is set, value_size
is the number of bifs Tn the value.

Calier supplied flags, Defined bits are:
value_size'' is in units of bits

Offset of value in bits. Default is zero.

Output string by descriptor.

o

4
(5)
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TSSCVTILY = Convert longword to text, 0, Z, L, B, 16=SEP=-1984 :24:59 VAX/VMS Macro V04-00 Page 01s
?-816 OTSSCVT_L_TZ ? Long to text, i iornat 6-SEP-1984 ??: 35:06 C(LIBRTL.SRCIOTSCVTLT.MAR;1 . (g)i Sym
9 4 : $SS_NORMAL - Successful completion. BIT
94 2 3 OTSS_OUTCONERR = OQutput con:crs on error, The converted value COM
9% 9 ; does not fit in the field provided. The field COM
9% : is filled with asterisks, This error is also given COM
ng s ; if value_size is not positive. Eg:
09 290 © SIDE EFFECTS: ERR
2™ e i
9 9§ ; ERR
94 9% :== Exl
894 95 EXI]
00F C oogg 39 .ENTRY FORSCNV_OUT_Z, “M<R2,R3,R&,R5,R6,R7> E;}
54 04 AC 95 0096 298 MOVAB  value(AP), R& ; Address of value FLA
0007 30 O009A 299 BSBW lN%TlA&IZé : Set up default values FOR
53 20 DO 0090 00 MOVL #32, R ; Value MUST be 4 bytes!' FOR
9 N 88:% 81 8RB COMMON_2 ; Go to common routine ;gg
00FC 88:‘ 85 ENTRY OTSSCVT_L_TZ , *“M<R2,R3,R4,R5,R6,R7> {:%
S 04 AC DO 00A4 %05 MOVL value(AP), Ré : Address of value LET
00C9 30 88:3 89 BSBW INITIALIZE ; Set up default values 872
00AB 208 1)
00AB 309 COMMON_2: 018
56 S1 D0 00AB 310 MOVL  R1, Ré ; last set char address 0TS
02 01 53 CF O00A 11 10s: CASEL R3, #1, #2 ; Select on bits remaining 0TS
0008' 008 15 18: MORD 11§-1% ;1 bit 01§
001E* 00B4 1 .WORD 1§s-1s : i bits 0TS
0034* 00B 14. .WORD 13%-1% - bits ouT
42 11 008 15 BRB 14$ : & or more bits TRU
0BA 16 : can't be zero VAL
S7 64 01 S5 EF 00BA 17 118: EXTZV RS, #1, (R4), R?7 ; extract one bit VAL
57 13 00BF 318 BeaL  Exfr_z ; it zero, exit V_Fi
00F0 30 00C1 19 858w ZERO Fl%L ;s fill with zero to this point V_N
71 FF37 CF47 90 00C4 0 MOVB  LETTERSLR7], =(R1) : move character v, 3$
52 D7 O0O0CA 1 DECL R2 ; decrement digits count ZER
56 D7 00CC g DECL R6 ; decrement place holder
48 1 80C5 BRB EXIT %
S7 64 02 SS EF 00D 4 12%: EXTZV RS, #2, (R4), R7 : extract 2 bits
&1 15 0005 5 BLEG  EXit_Z ; it zero, finish
O0DA 30 0007 9 B5BW ZERO FltL : fill with zeroes
71 FF21 CF&7 99 0DA MOVB LSTIERS R7], -(R1) : move character PSE
52 D oeg 8 DECL R ; decrement digits count —
56 D7 O0OE 9 DECL Ré : decrement place holder .
sg 1 Eé4 0 BRE EXIT § ; exit 01
57 64 03 5 EF Eé 1 13s8: EXTZV RS, #3, (R4), R? ; extract 3 bits
2B 3 EB ; BEQL Exfr_? : sk\f insert if zero
00Cé OEg BSBW ZERO FltL : fill with zeroes
71 FFOB CF47 8F 4 MOVB LSTIERS R7], =(R1) : move character
¢ D Fg 5 DECL & ; decrement digits count
56 07 F s DECL R6 ; decrement place holder Pha
lg 1 FA BRB EXIT z g
57 64 04 5 if FC g 14%: EXTZV RS, ¥4, (R4), R7 ; extract & bits Ini
08 3 181 BEQL 408 3 skif insert if zero Com
00AE 30 0103 40 BSBW ZERO_FILL : fill with zeroes Pas




15

N
TSSCVTILY = Convert longword to text, O, 2, L, B, 16=-SEP=1984 00:24:59 VAX/VMS Macro V04=00 Page
?—814 OTSgCVT,L-TZ g Long to text, £ iOFllt -SEP=1984 ?1:i3:06 LIBRTL.SRCIOTSCVTLT.MAR;1 .
76 FEFS CF&7 99 106 41 MOVB LETTERSLR7], =(R6) ; move character
S D 10¢ ki DECL ] ; decrement digits count
55 2 Cg 1 ? 45 40%: ADDL2 #4, RS ; increment position
1 D 1" 46 DECL R1 ; decrement character pointer
53 04 (2 0113 45 SUBL2 #4, R3 : decrement count
9% 1A }} 29 BGTRU 10§ : continue if not done
1" Lg EXIT_Z:
Sg pS O 4 TSTL ; more 2zeroes to fill?
2 1% 1A 50 BLEQ 308 : no
51 56 8 C 11C 351 SUBL3 RZ2, R6, R1 : insert R2 zeroes
5 gs 15 5; INCL RO ; we aren't writing a char here
008F 1 S BSBW ZERO_FILL : fill with zeroes
50 DS 81 54 308: TSTL RO ; Blank fill?
06 15 0127 55 BLEQ S0 : No
76 EO 90 0129 56 40%: MOVB #*A/ /, =(R6) : Move a blank
FA SO FS 012¢C 357 SOBGTR RO, 40$ : Loop till done
SO 01 00O 01§F S8 S0$: MOVL #1, RO ; SS$_NORMAL
04 0132 359 RET : exi

— T OTMOMNMDEZERM RC—=ITOMTMOMNMDZ BM R GC—=ITOMMOMNDZEM R =ITOMMOMNDZREr XN =T OMMOND
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ongword to text, 0, Z, L, B, 16-SEP-1984 1264:59 VAX/ 4=
B g"'Lcmg to ::-t. 6i£ i 8 3 ??:fﬁ:go Aol 1o By e

|

ary form 6-SEP-1984 LIBRTL.SRCIOTSCVTLT.MAR;1
= .SBTTL OTSSCVT_L_TB - Long to text, binary format
; FUNCTIONAL DESCRIPTION:

This routine converts its input value to a text representation,
using base 2 (binary). The input value may be of any Length.

CALLING SEQUENCE:

status.wlc.v = OTSSCVT_L_TB (value.rx.r, out_string.wt.ds
, int_digits.rl.v
» value_size.rl.v
. flags.rbu.v
, bit_offset.rl.v]1]))

INPUT PARAMETERS:

value = &
int_digits = 12

AEA LA TE TR A TATEA A TA TR T A PO T

Input value to be converted to text

Minimum number of digits to be produced.

If actual number of significant digits

is smaller, Leading zeroes will be

produced. If int_digits is zero

and value is zero, a blank field will

result. The default is 1.

The size of value in bytes. The

default is 4 if this arauaont is not present.
It flags bit V_SIZE_IN_BITS is set, value_size
is the number of bits Tn the value.

value_size = 16

flags = 20 Caller supplied flags. Defined bits are:
TR B T R L L L Xt
g IMPLICIT INPUTS:
: NONE
g OUTPUT PARAMETERS:
S out_string = 8 ; Output string by descriptor.
IMPLICIT OUTPUTS:
NONE
COMPLETION CODES:
SS$_NORMAL = Successful completion.

OTSS_OUTCONERR =~ Qutput conversion error. The converted value
does not fit in the field provided. The field
is filled with asterisks, This error is also given
if value_size is not positive.

SIDE EFFECTS:
NCNE
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TSSCVTLY = Convert longword to text, 0, Z P=1984 :26:59 VAX/VMS Macro V04-00 [ F 1
?-81& OTSgQVT_L_TB ! Long to text, sinlry form 6-55?-1934 ??:?3:06 LIBRTL.SRCIOTSCVTLT.MAR;1 > (6)
133 48
00FC } 4 ? LENTRY OTSSCVT_L_TB , “M<R2,R3,R4,RS5,R6,R7>
5S¢ 04 As gs 1 4 i MOVL value(AP), R4 ; Address of value
003 } g 2 : BSBW  INITIALIZE : Set up default values
56 gl PO 013C 425 MOVL R1, R ; last set char address
57 64 01 S EF 13f 4 9 108: EXTZV RS, M, (R4), R7 ; extract 1 bits
08 13 0146 & BEaL 20§ : skip insert if zero
0069 g 163 4 g BSBW ZERD _FILL : fill with zeroes
76 FEB2 CFé& 14 A MOVB LETTERSLR7], =(R6) : move chiracter
% D 14F 430 DECL w ; decremen* digits count
D7 1;1 431 208: DECL R ; decrement character pointer
5 D? 1 4 i INCL RS ; increment bit position
H S  dnt M
E 139 %8 ; loop bac more s
159 436 EXIT_B:
S% DS 0159 437 TSTL Rg ; more zeroes to fill?
0 1§ 8153 438 BLEQ 30% : no
51 Sé6 SS C 15D 439 SUBLY RZ2. R6, R1 : insert R2 zeroes
5 Dé 8161 440 INCL RO ; we aren't writing a char here
0045 30 0163 441 BSBW ZERO_FILL : fill with zeroes
5 DS 168 66; 308: TSTL RO : Blank fill?
6 15 016 4¢ BLEQ 50% : No
76 0 9? 16A 444 40S: MOVB #*A/ /, =(R6) ; Move a blank
FA SO F 190 445 SOBGTR RO, 406 : Loop till done
50 01 DO 1 g 466 50%: MOVL #1, RO ; SS$ _NORMAL
04 17 &47 RET . exi
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?-814 Local subrout?nos 6-SEP-19gb ??:¥§:06 LIBRTL.SRCJOTSCVTLT.MAR;1 . (;)
176 449 .SBTTL Local subroutines
176 & ?
176 & R
};2 2 i ; INITIALIZE = Perform common initialization
176 454 ; 1. RO gets string length.
176 455 ; . R1 gets address of 1 byte past end of out_string.
174 659 $ . R2 gets int_digits value.
176 457 ; &. R3 gets value size in bits,
176 458 ; 5. RS gets starting bit position
176 459 ;-
176 460
176 461 INITIALIZE:
50 08 gc 70 0176 &6 Mova dout_string(AP), RO ; Get string descriptor
50 0 3C 0178 46 MOVZWL RO, RO ; RO gets string Length
21 SO0 CO0 0178 464 ADDLZ RO, R1 : as 1 past last byte
i 01 DO O17E 465 MOVL #1, R2 ; default digits in int
5 go 00 8131 46 MOVL  #32, R3 : default size in bits
S D& 0184 46 CLRL RS ; default bit offset
57 08 DO 0186 468 MOVL #8, R?7 : Default multiplier size-to=-bits
06 02 6C F 0189 469 CASEB  (AP), #2, w4 ; Select on argument count
0026 8180 470 18: .WORD iOS-{t ; £ arguments
0022' O018F 471 .WORD 0%-1% ;: 5 arguments
0016*' 0191 47 .WORD 40$-1% ; & arguments
000E*' 0193 47 .WORD 508-1% : 5 arguments
000A" 0195 474 .WORD  608-1% : 6 arguments
0197 475 ; fall through ; Assume >6 arguments
55 18 AS D0 0197 679 60$: MOVL bit_offset(AP), RS : Get bit offset
0314 AC O E1 0198 477 508: B8B8C IV_SIZE-IN_BIT§. flags(Aﬁ ., 408 ; Bit not set?
57 01 DO OlAg 478 MOVL M, R7 ; value_size is in bits
53 57 10 AC C5 O1A3 479 408:  MULL3 value_size(AP), R7, R3 : Get sTze in bits
1 10 01A8 480 BVS RROR ; Error if overflow
03 12 01AA 481 BNEQ 0% ; Ok if not zero
53 DO O01AC 48; MOVL #32, R3 ; Assume 32 bits
52 0C AC DO O1AF 483 308: MOVL int_digits(AP), R2 : Get int_digits argument
05 0183 484 20%: RSB ; End of Tnitialization
N1B4 485
01B4 486
01B4 487 ;+
8}%2 233 ; ZERO_FILL = Fill in skipped zeroes
01B& 490 ; ZERO_FILL is called whenever a main routine wishes to output
01B4 491 ; a non-zero digit. First, it checks to see if there is room
818& 492 ; for one more character. If not, it branches to ERROR.
184 495 ; It then fills with zeroes the space between the lLast non-zero
0184 494 ; digit and the current location, if an¥. It also updates the
818& 495 ; character pointers and counts appropriately.
184 493 .-
184 &9
1B4 498 ZERO_FILL:
SO D7 01B& 49 DECL RO : Reduce char count
OF 19 0186 00 BLSS ERROR : 1t ne?ative. out of room
56 51 D1 0188 81 CMPL R1, R6 : Any difference?
01 19 0NiBB g BLSS  10% : Yes
85 18D 0 RSB : No, exit
76 gg 0 O01BE 206 108: MOVB #*A/0/, =(R6) : Move a zero
p7 01C1 05 DECL R2 ; Decrement digits count
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?—814 Local subrout?nes g-SEP-19g£ 11: 73 :06 C[LIBRTL.SRCIOTSCVTLT.MAR;1
EF N }E gg B=8 ZERO_FILL ; Loop till done

1C
1C 9 ; ERROR = Return output conversion error
1C 10 ; Not used by L format.
168 313"
1C li ERROR_CALL: ; Called by I format

003cC }E S}g .WORD  *M<R2,R3,R4,.RS>
1C7 1? ERROR

S0 08 88 70 01C7 1 mMova igut strin (AP), RO Get strin? descr1ptor
61 S0 2A  6E g 2C 01(B 18 MOVCS “pA/+/, RO, 1 L with *
SO0 00000000°'8F 82 8}3; }0 22¥L IOfSS OUfCONERR RO ; Output conversion error
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00000004
0000000C

00000010

00000014
00000000

00000008
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~ee
- —
— O

- anvor
OTSSCVT_L_

= .SBTTL OTSSCVT_L_TI = Long to text, | format
: FUNCTIONAL DESCRIPTION:

This routine converts its input value to a text representation,
using base 10 (decimal).

OTSSCVT_L_TI supports FORTRAN Iw and Iw.m output conversion.

A separate entry point FORSCNV_OUT_I is provided for compatibility
a;ggccrovious releases. Note that the input value for

IAWIWA I I UV
WA U L L L A L N NP PO PO NONONOND

10

103 ;

109 b

109 ? 3

109 9 :

109 :

109 3 :

109 :

109 D 3

109 ] 3

109 i 3

109 3 T_L_TI is by reference while that for FORSCNV_OUT_I is

}gg g : by value.
§}gg 9 ; CALLING SEQUENCE:

109 8 ; status.wlc.v = OTSSCVT_L_TI (value.rx.r, out_string.wt.ds
0109 539 ; , int_digits.rl.v
0109 540 ; . value_size.rl.v
8}83 521 3 , caller_flags.rbu.v1l])
0}83 §2§ 5 status.wlc.v = FORSCNV_OUT_I (value.rl.v, out_string.wt.ds)
8109 545 ;
0109 546 ; INPUT PARAMETERS:
0109 547 ;
0109 548 value = 4 ; Input value to be converted to text
0109 549 int_digits = 12 : Minimum number of digits to be produced.
0109 550 ; If actual number of significant digits
0109 551 ; is smaller, Leading zeroes will be
0109 SS; ; produced. If int_digits is zero
0109 55 ; and value is zero, a blank field will
0109 554 - : result. The default is 1.
0109 555 value_size = 16 : The size of value in bytes. 1If
0109 556 : ?rosent. value_size must be either
0109 557 : 1, 2or &, If value_size is 1 or 2, the
0109 558 ; value is sign extended to a longword
0109 559 ; before conversion. The default is
8109 560 : & if this argument is not present.

109 561 caller_flags = 20 ; Flags supplied b{ caller:
0109 56; v_FORCEPLUS = 0 : If set, a plus sign will be forced
0109 56 ; for positive values.
0109 564 ;
8109 265 ; IMPLICIT INPUTS:

109 69 :
C109 567 ; NONE

109 568 ;

109 569 ; OUTPUT PARAMETERS:

109 570 ; - ; :

}83 ;1 out_string = 8 ; Output string by descriptor.

109 7§ : IMPLICIT QUTPUTS:

109 76 ;

109 7 ; NONE

109 79 :
8109 77 ; COMPLETION CODES:

109 78 ;

Page 1
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$S$_NORMAL
0TSS_OUTCONERR

it P HH

= Successful completion.
= Qutput conversion error.
value did not fit in the field

AX/VMS Macro
LIBRTL.SRCIOTSCVTLT.MAR;1

?

v04-00 Page

Either the converted

rovided or the
he field is filled

b¥tc count was not 1, 2 or 4.
W

th asterisks.

SIDE EFFECTS:
NONE

IR LA DR TATE DR TR TR TR TR T

;@
; Definition of flag bits.

V_NEGATIVE
M_NEGATIVE

1aV_NEGATIVE

Bit to set in RS if negative
Mask for V_NEGATIVE

.ENTRY FORSCNV_OUT_I, “M<R2,R3,R4,RS,R6>

MOVL #1, Ré ; Number of integer digits
CLRL RS : No fla?s
MOVL value(AP), RO ; Value 1s in argument Llist
BRB COMMON_I ; Go to common routine
LENTRY OTSSCVT_L_TI, “M<R2,R3,R4,R5,R6>
CLRL RS ; Assume no flags
CASEB  (AP), #2, #3 ; Select on argument count
1$: .WORD  20%-1$ : 2 arguments
.WORD  448-1% : 5 arguments
.WORD 40%-1% : & arguments
.WORD 50%-1% : 5 arguments
208 BRB 50% ; assume >5 arguments
MOVL M, Ré ; Get integer digits
MOVL avalue(AP), RO : longword value
BRB COMMON_1
508: MOVB caller_flags(AP), RS ; Get flags ;
408:  CASEL value SizelAP), #0, #4¢ : Select on value size
28: LWORD  44%-2% : 0 - assume 4 bytes
.WORD 41%-2% : 1 byte
.WORD 42%-2% : i bytes
.WORD ERROR _[-2% : 5 bytes, error
LWORD  443-2% ; & bytes
BRW ERROR_I ; other, error
618: CVTIBL @avalue(AP), RO : Convert byte
BRB 0% ; Continue
428: CVIWL avalue(AP), RO ; Convert word
BRB 308 : Continue
44S: MOVL avalue(AP), RO : Convert longword
308: MOVL int_digits(AP), Ré ; Get integer digits
TSTL RO ; Set condition codes for test
COMMON_I : el
BGEQ COMMON_1IU ; Skip if value positive

—_—
Gown
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1-816 OTSSCVT_L_TI 2 Long to text, f %oralt 6-SEP-1984 ??:73:06 LIBRTL.SRCIOTSCVTLT.MAR;1 . (g)
55 100 8F A8 =8 BISW2  #M_NEGATIVE, RS ; Indicate negative
20 20 CE ; 9 — lGNEGL RO, Rg : Get absolutg value
51 4 7 3 = CLRL R1 ; Clear lLow=order par5 o; value
52 08 D 9 40 Mova dout_string(AP), R2 ; Get descriptor in R2=R
S; 3 D 41 MOVIWL RZ, Rg ; Get length in R2
5 C 4 64; ADDLZ R¢, R ; Get address of last+1 character
OF 11 0243 64 BRB 15§ ; Store digits
4 644
4 645 :+
2 229 ; Store all significant digits.
56 50 50 OA 7B § 42 648 10s: EDIV #10, RO, RO, Ré ; Get quotient in RO-R1, remainder in R6
s D7 4A 649 DECL R2 ; Decrement length
19 024C 650 BLSS ERROR 1 : Error if no more chars left
73 56 0 81 0 AS 651 ADDB3 #*A/07, R6, =(R3) ; Store next digit
S¢ D7 025 6S§ DECL R4 ; Decrement zero-fill count
50 D5 0254 653 15%: TSTL RO : Are we done now?
ED 12 0 53 654 BNEQ 10% : LooT if not
07 11 025 655 BRB 25% : Fill in leading zeroces
025A 656
025A 657 ;:+
8 g: ggg : Fill in any leading zeroes needed. R4 has remaining zero count.
52 D7 025A 660 208: DECL R2 ; 1 Less character
§9 19 025C 661 BLSS ERROR I : Have we run out?
73 0 90 OSSE 66 MOVB #*A/07, -(R3) : Move a zero
F6 54 F& 0261 663 258:  SOBGEQ R4, 20§ : Loop till done
0264 664
0%64 665 ;+
8 22 ggg ; Store sign, if needed.
09 55 08 EO 0%64 668 8BS #V_NEGATIVE, R5, 30$ ; Skip if value negative
1455 00 E1 0268 669 BBC #V FORCEPLUS, RS, 508 : Test for forced plus
SO0 28 90 0%6C 670 MOVB #*K/+/, RO : Use plus sign
03 11 026F 671 BRB 35% : Rejoin common code
S0 20 90 0%71 67; 308 : MOVB #*A/=/, RO : Use minus sign
5¢ D7 02764 673 35%: DECL R2 : less character
OF 19 8273 674 BLSS ERROR _1I : Have we run out?
73 SO 90 57 675 MOVB RO, =-TR3) : Move si?n 't or e
03 11 0278 676 BRB 504 : Blank fill, if needed.
0270 677 :
7D 678 ;+ ;
;g 273 : Blank fill remainder, if needed. RZ2 has remaining blank count.
73 gO 90 70 631 lOS: MOVB #*A/ /, =(R3) ; Move a blank
FA 52 F4 0280 6 i 50$:  SOBGEQ R2, 40% : Loop till done
SO0 01 00 g 6 MOVL #, RO : Success
04 6 684 RET
87 685
gT 63? ERROR_I: :
FF39 CF 6C FA 7 é CALLG (AP), W*ERROR_CALL 3 Fill with asterisks
04 8C 688 RET : with error status in RO
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?-314 OTSgCVT_L_TU . Long to text, uns{gnod de -SEP-19S£ ??: 5:06 C(LIBRTL.SRCJOTSCVTLT.MAR;1 .
g 23? 5 .SBTTL OTSSCVT_L_TU = Long to text, unsigned decimal format
g 63§ ; FUNCTIONAL DESCRIPTION:
D 29k 3 This routine converts its input value to a text representation,
8 235 : using unsigned base 10 (decimal).
g ggz s CALLING SEQUENCE:
D 999 $ status.wlc.v = OTSSCVT_L_TU (value.rx.r, out_string.wt.ds
D 9 3 , int_digits.rl.v
0580 70 : B et S
3 ., caller_flags.rbu.v
028D 70§ : .
0280 704 ;
Og ;85 s INPUT PARAMETERS:
00000004 gD 709 value = & : Input value to be converted to text
0000000C 80 708 int_digits = 12 : Minimum number of digits to be produced.
0280 709 ; If actual number of significant digits
0280 710 : is smaller, leadina zeroes will be
ogao ™m ; produced. If int_digits is zero
028D 715 ; and value is zero, a blank fieid will
0280 N : result. The default is 1.
0000010 028D 714 value_size = 16 : The size of value in bytes. 1If
0280 715 ; present, value_size must be either
028D 716 : 1, 2or &, If value_size is 1 or 2, the
0280 717 ; value is sign extended to a longword
0280 718 ; before conversion. The default is
0280 719 ; 4 if this argument is not present.
00000014 8538 ;g? caller_flags = 20 ; Flags supplied by caller:
028D 72; 3
028D 7235 ; IMPLICIT INPUTS:
8%80 7264 ;
80 725 ; NONE
028D ?56 :
8%38 ;25 ; OUTPUT PARAMETERS:
00000008 8 gg ;gg out_string = 8 ; Output string by descriptor.
Oglb 731 ; IMPLICIT OUTPUTS:
28D 7 i :
SSD 733 ; NONE
D 734 ;
288 ; S ; COMPLETION CODES:
go 7 9 : SS$_NORMAL = Successful completion. :
D 738 ; OTSS_OUTCONERR = Output conversion error. Either the converted
D 739 . value did not fit in the field ?rovided or the
D 740 ; byte count was not 1, 2 or 4. The field is filled
D 741 ; with asterisks.
028D 76; :
D 743 ; SIDE EFFECTS:
D 744 ;
D 745 ; NONE
D 746 ;
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?-81& OYSgCVT_L_TU ? Long to text, uns{gnod de 2-55?-1934 ??:%§:06 LIBRTL.SRCJOTSCVTLT.MAR;1 . (3»‘
D 747 ;==
D 768
D 749 ;+
g ; ? : Definition of flag bits.
1
007¢ ? ;gg LENTRY OTSSCVT_L_TU, “M<R2,R3,R4,R5,R6>
55 D4 F 759 CLRL RS ; Assume no flags
03 02 6C BF 91 75 CASEB (AP), #2, #3 ; Select on argument count
8ogA' 4] 138 18: .WORD ios-i $ : 2 arguments
032' 029 4 .WORD 4%-1% : 3 arguments
8814' 99 760 WORD  40$-1% ; & arguments
14 8 98 761 LWORD 40%-1% ; 5 arguments
oA N 90 76§ B 40$ ; assume >5 arguments
9F 763 20%
& 01 00 9F 764 MOVL 1, Ré ; Get integer digits
50 04 BC DO A2 765 MOVL avalue(AP), RO ; longword value
FFBE 31 02A6 766 BRW COMMON_1IU
06 00 10 AC _CF 8 A9 767 40S: CASEL value size(AP), #0, #4& ; Select on value size
0019* AS 768 28: WORD  44$-2% : 0 - assume & bytes
OOOg' 028 769 LWORD 41%-2% : 1 byte
0013* 02B2 770 WORD 42%-2% 3 g bytes
FFD9 0284 771 .WORD ERROR_I-2% : 5 bytes, error
0019* 0286 77; WORD 448~ : & bytes
FFCC 31 0288 77 BRW ERROR_I ; other, error
SO0 06 BC 9A 02BB 774 41%: MOVZBL avalue(AP), RO ; Convert byte
OA 11 02BF 775 BRB 308 : Continue
S0 04 BC 3C 0201 77? 62%: MOVZWL avalue(AP), RO ; Convert word
06 11 02¢5 77 BRB 308 ; Continue
50 04 BC DO 02C7 778 44$: MOVL avalue(AP), RO : Convert longword
5¢ O0CAC DO 02¢B 779 30s: MOVL int _digits(AP), R4 ; Get integer digits
FF65 31 02CF 780 BRW COMMON_IU : Join common code




FORSCNV_OUT_L (value.rl.v, out_string.wt.ds)

status.wlc.v

INPUT PARAMETERS:

value = 4 ; Input value to be converted to text
IMPLICIT INPUTS:

NONE
OUTPUT PARAMETERS:

out_string = 8 ; Output string by descriptor.
IMPLICIT QUTPUTS:

NONE
COMPLETION CODES:

SS$_NORMAL - Successful completion.

OTSS_OUTCONERR = OQutput conversion error. This can only occur
if the output string is of zero length.

K 16
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1-316 OTSSCVT_L_TL 2 Long to text, L ‘ornat 6=-SEP=-1984 ??:%3:06 LIBRTL.SRCIOTSCVTLT.MAR;1 - (10)

; i o SBTTL OTSSCVT_L_TL - Long to text, L format

8 ; FUNCTIONAL DESCRIPTION:

7 9 : This routine converts its input value to a text representation,

; 3 using FORTRAN L (logical) format.

[4 g : The output field will consist of (width=1) blanks followed by:

790 ; the letter T if the lowest bit is set;

;g1 : the Letter F if the Lowest bit is clear.

793 : A separate entry point FORSCNV_OUT_L is provided for compatibility

794 ; with ertvious releases. Note that the input value for

795 ; OTSSCVT_L_TL is by reference while that for FORSCNV_OUT_L is

;3 : by value.

198 : CALLING SEQUENCE:

gg? ; status.wlc.v = OTSSCVT_L_TL (value.rL.r, out_string.wt.ds)

00000004

00000008

SIDE EFFECTS:
NONE

0004
52 04 AC 90
06 N

.ENTRY FORSCNV_OUT_L, “M<R2>

MOVB value(AP), R2 : Get low byte of value
BRB COMMON_L ; Go to common routine

ENTRY OTSSCVT_L_TL , “M<R2>

P S LN LN LN LN DN DN DN DN LN LN LN DS DN LN LS DS DS DS DS LS DS DN DN DN DN TN LN LN N DS TNIN N TN TN TN NN NN NN NN NN NN NN N
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1-814 OVSgCVT_L_TL ! Long to text, L ‘ornlt g-SEP-19g6 ??:§3:06 LIBRTL.SRCIOTSCVTLT.MAR;1 9 (qO)
DC 39
5S¢ 04 8BC 90 % 20 MOVB avalue(AP), R2 ; Get low byte of value
E :.§
t 43 COMMON_L :
S0 08 28 70 E 44 Mova agut atring(AP). RO ; Get descriptor
50 3§ £4 45 MOvZWwL RO, R ; Length
1€ 1 E7 846 BLEQ  ERROR L : lero Length, error
51 2 co E9 347 ADDL2 Rg, RY : 1 byte past end of string
06 52 58 02EC 48 BLBS R2, TRUE : TRUE or FALSE?
71 46 BF 0 EF 49 MOVB #*A/F/, =(R1) ; result is F
gk 1" Fg 50 BHB EXIT L : Finish
71 S4 BF 90 F 51 TRUE: MOvVB #*A/T/, =(R1) ; result is T
02F9 85§
02F9 853 EXIT_L:
SO D7 02F9 gSk DECL RO : 1 less character
06 13 0¢2FB 55 BEQL 208 : ALL done?
n gO 90 02FD 359 108: MOVB #*A/ /, =(R1) : Blank fill
FASO FS O og 85 SOBGTR RO, 10§ : Loop till done
SO 01 00 030 858 208: MOVL #1, RO : Success
06 0306 859 RET : Return
0307 860
0307 861 ERROR_L: -
50 00000000°'8F DO 0307 86§ MOVL #OTSS_OUTCONERR, RO ; Output conversion error
06 O030E 86 RET : Return
030F 864
030F 865
030F 866 .END
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Symbol table ’ 6-SEP-19SA 11:%3:06 LIBRTL.SRCIOTSCVTLT.MAR; 1 . (10)
BIT OFFSET = 00000018
COMMON_1 808 0 ig G 81
COMMON_1IU 80 8 R 1
COMMON_L 00 59 & 01
COMMON _ 00000 R 01
COMMON "2 0 oooon; R 81
ERROR 81C R 1
ERROR_CALL 000 IS; ® 01
ERROR_1 Oi & 01
ERRORL 00000 27 B 01
X1t 00000279 & 01
EXIT:O 88888873 R 01
EXIT 2 00000118 R 01
FLAGS = 00000014
FORSCNV_OUT_I 00000109 RG 01
FORSCNV_OUT_L 0000880 RG 01
FORSCNV_OUT_O 00000010 RG 01
FORSCNV_OUT_2 00000094 RG 01
INITIALTZE 00000174 R 01

INT_DIGITS = 0000000C
LETTERS 00000000 R 01
M_NEGATIVE = 000001gg
OTSSCVI_L_TB 000001

OTSSCVICLCTI 000001E6 RG 01
OTSSCVT_L_TL DA RG 01
OTSSCVT_L_T0 0 1E RG 01
OTSSCVT_L_TU 0000028D RG 01
OTSSCVT_L_T12 000000A2 RG 01
01SS OUTCONERR  weeseses X (0
OUT_STRING = 00000002
TRUE 000002FS5S R 01
VALUE = 00000004
VALUE _SIZE = 00000010
V_FORCEPLUS =
V_NEGATIVE = 0000000
V_SIZE_IN_BITS = 00000002
ZERO_FTLL 00000184 R 01
A e e e e e +
i Psect synopsis !
PSECT name Allocation PSECT No. Attributes
. ABS . 00000000 ( g.) 00 ( 0.) NOPIC USR CON ABS LCL NOSHR NOEXE NORD NOWRT NOVEC BYTE
_OTSSCODE 0000030F (¢ 783.) 01 ( 1.) PIC USR CON REL LCL SHR EXE RD NOWRT NOVEC LONG
o scssssssssscssssas %
i Performance indicators i
Phase Page faults CPU Time Elapsed Time
énfti;éization : 152 §8:80:§8.§? § :08:8%.;1
omma rocessin :00:00. :00:02.
Pass 1 " ' 100 00:00:01:33  00:00:08:7%




; B 1
OTSSCVYTLY = Convert longword to text, O, Z, L, B, 1 -S 4 AX/VMS Macro v04-00 Page
!VAI- 1 Macro Run Statistics sk t : P=1 83 ?? fg 86 LIBRTL J TSCVTLT.MAR; 1 ’ (78)

Symbol table sort 0 :00:00.05 .
Pass ¢ 154 :00: ?. :00:08.
Sy-bol table output 4 :00:00. :00:00.
Psect synopsis output :00:00. :00:00.01
(ross-reference output ¢ 8 :00:00. g
Assembler run totals 39 .6 :00:15.1

hs working s;i Limit uos 1%00 pages.
3930 bytos (28 pages) of virtua! memory were used to buffer_the intermediate code.
There were 10 pages of symbol table space allocaisd hold 39 non-local and 58 lLocal symbols.
source linos were read in Pass 1, producin object records in Pass 2.
0 pages of virtual memory were used to define 0 macros.

e cca= B P S
i Macro library statistics !

Macro Library name Macros defined
_$25580UA28:[SYSLIBISTARLET.MLB:2 0
0 GETS were required to define 0 macros.

There were no errors, warnings or information messages.

MACRO/ENABLE=SUPPRESSION/DISABLE=(GLOBAL , TRACEBACK) /LIS=L1S$:0TSCVTLT/0BJ=0BJS:0TSLVTLT MSRCS:0TSCVTLT/UPDATE=(ENH$:0TSCVTLT)
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